
qm=;+= ljj/0f nfut /sd ?=  s}lkmot

1 ufGwL ;fxsf] 3/ b]lv d;lhb ;Ddsf] gfnf lgdf{0f 800,000.00     

2 ahf/ glhssf] ;fd'bflos ejg /+u/f]ug, jfol/Ësf] nflu 500,000.00     

3 ;fljs jf8{ g+= @ b'w 8]/L glhs ePsf] cw'/f] wd{zfnfdf emofn,

9f]sf, kN;t/, /+u/f]ug, kvf{n jfp08/L
1,300,000.00    

4 kf;jfg6f]nsf] cw'/f] ejg lgdf{0f 600,000.00      

5 /+lunf rf}s b]lv wd{zfnf ;Dd gfnf lgdf[0f 1,150,000.00    

6 ;fljs jf8{ g+= ( df lbg]z ;fxsf] 3/ b]lv df/jf8L ;fxsf] 3/

;Dd af6f] 9nfg
700,000.00     

7 b'w 8]/L b]lv ;Togf/fo0f ;fxsf] 3/ ;Dd gfnf lgdf{0f 500,000.00     

8 lzjrf}s b]lv d;lhb ;Dd gfnf tyf cw'/f] 9nfg sfo{ 450,000.00     

9 ljGb]Zj/ ;fxs]f 3/ b]lv d]gaf6f] ;Dd sNe6{ tyf gfnf lgdf{0f 200,000.00     

10 pk]Gb| k+l8tsf] 3/ b]lv gx/ ;Dd s[lif ;8s lgdf{0f 1,300,000.00    

11 a/xyjf hfg] af6f]df xf]dkfO{k h8fg 100,000.00      

12 x}08kfO{k h8fg 300,000.00      

13 ljB't kf]n 9'jfgL 100,000.00      

14 hg hfu/0f o''jf snjdf cfvf lzla/ dfkm{t 30,000.00       ;fljs ah]6

15 a|xd:yfgsf] 3]/f a]/f ug{sf] nflu 75,000.00       ;fljs ah]6

16 o'jf v]ns'b  d}bfg lgdf{0f 82,000.00       ;fljs ah]6

hDdf 8,187,000.00   

sljnf;L gu/kflnsf jf8{ g+= ! sf] of]hgfx?


